

## San Antonio Water System

Solicitation Vendor Price List

Run Date 10/19/2023

Prepared By: Rodolfo Martinez Solicitation No: CO-00706 Job #: 24-0104/24-1401/24-1402

Contract No : CO-00706-01 SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio, Texas, 78298-2449 TABULATION OF BIDS

Proposal : 2024 Annual Asphalt Overlay Work Order Construction Contract, Package 1

Time And Date : 10/19/2023 2:00pm

Price List

2 3 4 5 6	Item No 100.1 2 100.2 3 104.1 3 200.1	Quote Category General Water Bid Items General Water Bid Items General Water Bid Items	Construction	Item Description Emergency Mobilization (24-Hour Response)	Unit	Unit Price \$2,778,20	Quantity 2	Total Amount \$5.556.40	Unit Price \$1,000.00	Quantity	Total Amount \$2,000.00	Unit Price \$5,000.00	Quantity 2	Total Amount \$10,000.00	Unit Price	Quantity
2 3 4 5 6	100.2	General Water Bid Items	Construction	Emergency Mobilization (24-Hour Response)	EA	\$2 778 20	2		\$1,000,00	2						
3 4 5 6	3 104.1		01.4600.00.0002 -				-	\$0,000.40	*.,		\$2,000.00	\$5,000.00		\$10,000.00	\$2,500.00	
4 5 6	200.1	General Water Bid Items	Construction	Small Project Mobilization (900 SF or less)	EA	\$2,539.05	103	\$261,522.15	\$1,000.00	103	\$103,000.00	\$500.00	103	\$51,500.00	\$2,500.00	10
5 6 7			01.4600.00.0002 - Construction	Street Excavation	CY	\$57.68	18	\$1,038.24	\$30.00	18	\$540.00	\$100.00	18	\$1,800.00	\$230.35	5 1
6		General Water Bid Items	01.4600.00.0002 - Construction	Flexible Base(Compacted in place)	CY	\$105.98	1	\$105.98	\$20.00	1	\$20.00	\$100.00	1	\$100.00	\$248.57	
7	202.1	General Water Bid Items	01.4600.00.0002 - Construction	Prime Coat	GAL	\$8.79	1	******	\$11.00	1	\$11.00	\$20.00	1	\$20.00	\$7.14	
	203.1	General Water Bid Items	01.4600.00.0002 - Construction	Tack Coat	GAL	\$10.24	3,638	\$37,253.12	\$10.00	3,638	\$36,380.00	\$10.00	3,638	\$36,380.00	\$5.50	3,63
8	204.1	General Water Bid Items	Construction	One Course Surface Treatment	SY	\$8.11	1		\$5.00	1	\$5.00	\$20.00		\$20.00	\$9.51	
	205.3A	General Water Bid Items	Construction	Hot Mix Asphaltic Pavement Type "C" (2" Compacted Depth)	SY	\$27.38	1	\$27.38	\$30.00	1	\$30.00	\$100.00		\$100.00	\$286.56	
9	205.3B	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type "C" (3" Compacted Depth)	SY	\$35.73	1	\$35.73	\$35.00	1	\$35.00	\$120.00	1	\$120.00	\$257.21	
10	205.4A	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type "D" (2" Compacted Depth)	SY	\$16.76	36,916	\$618,712.16	\$25.00	36,916	\$922,900.00	\$24.00	36,916	\$885,984.00	\$37.54	36,91
11	205.4B	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type "D" (3" Compacted Depth)	SY	\$59.38	143	\$8,491.34	\$35.00	143	\$5,005.00	\$80.00	143	\$11,440.00	\$63.44	14
12	205.2	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type "B" (4" Compacted Depth)	SY	\$50.33	260	\$13,085.80	\$70.00	260	\$18,200.00	\$90.00	260	\$23,400.00	\$92.68	3 26
13	205.4D	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type C (70-22) 4* Thick (Type C Class A Rock)	SY	\$56.66	199	\$11,275.34	\$75.00	199	\$14,925.00	\$300.00	199	\$59,700.00	\$320.79	9 19
14	205.4E	General Water Bid Items	01.4600.00.0002 - Construction	Hot Mix Asphaltic Pavement Type B (64-22) 10* Thick (Type B)	SY	\$90.80	371	\$33,686.80	\$105.00	371	\$38,955.00	\$120.00	371	\$44,520.00	\$118.68	37
15	206.1	General Water Bid Items	01.4600.00.0002 - Construction	Asphalt Treated Base (compacted in place)	CY	\$325.24	1	\$325.24	\$100.00	1	\$100.00	\$350.00	1	\$350.00	\$391.06	
16	207.1	General Water Bid Items	01.4600.00.0002 - Construction	Single Course Bituminous Slury Seal	SY	\$6.60	20	\$132.00	\$7.00	20	\$140.00	\$10.00	20	\$200.00	\$5.92	2 2
	208.2	General Water Bid Items	01.4600.00.0002 - Construction	Milling of Asphaltic Concrete Pavement (Salvaging, Hauling, and Stockpilling Reclaimable Asphaltic Pavement)	CY	\$36.97	2,732		\$90.00	2,732	\$245,880.00	\$100.00		\$273,200.00	\$286.45	
18	230.1A	General Water Bid Items	01.4600.00.0002 - Construction	Flexible Pavement Structure Repair (2" HMAC over 6" ATB)	SY	\$97.18	1	\$97.18	\$50.00	1	\$50.00	\$200.00	1	\$200.00	\$94.41	
19	230.1B	General Water Bid Items	01.4600.00.0002 - Construction	Flexible Pavement Structure Repair (2" HMAC over 8" ATB)	SY	\$120.48	1	\$120.48	\$60.00	1	\$60.00	\$250.00	1	\$250.00	\$179.97	
	230.1C	General Water Bid Items	01.4600.00.0002 - Construction	Flexible Pavement Structure Repair (3" HMAC over 10" ATB)	SY	\$153.56	1	\$153.56	\$85.00	1	\$85.00	\$550.00	1	\$550.00	\$563.25	
21	230.2A	General Water Bid Items	01.4600.00.0002 - Construction	Concrete Pavement Full-Depth Repair (2* HMAC over 6* ATB)	SY	\$142.62	1	\$142.62	\$50.00	1	\$50.00	\$700.00	1	\$700.00	\$720.36	
	230.2B	General Water Bid Items	Construction	Concrete Pavement Full-Depth Repair (2* HMAC over 8* ATB)	SY	\$179.81	1		\$60.00	1	\$60.00	\$725.00		\$725.00	\$732.93	
23	230.2C	General Water Bid Items	Construction	Concrete Pavement Full-Depth Repair (3" HMAC over 10" ATB)	SY	\$221.19	1	\$221.19	\$85.00	1	\$85.00	\$750.00	1	\$750.00	\$751.21	
24	234.1	General Water Bid Items	Construction	Geogrid Reinforcement	SY	\$6.45	1	\$6.45	\$5.00	1	\$5.00	\$200.00	1	\$200.00	\$87.71	
	530.1	General Water Bid Items	Construction	Barricades, Signs, and Traffic Handling (Traffic Control)	EA	\$2,186.60	174		\$3,100.00	174	\$539,400.00	\$3,000.00		\$522,000.00	\$3,000.00	
26	530.2	General Water Bid Items	01.4600.00.0002 - Construction	Police Officer (Maximum Bid of \$40.00 per HR)	HR	\$75.40	202	\$15,230.80	\$50.00	202	\$10,100.00	\$80.00	202	\$16,160.00	\$47.50	20
27	535.01	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (4" Wide Yellow Line)	LF	\$1.68	2,494	\$4,189.92	\$1.40	2,494	\$3,491.60	\$3.00	2,494	\$7,482.00	\$4.24	2,49
28	535.02	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (4" Wide White Line)	LF	\$1.68	615	\$1,033.20	\$1.70	615	\$1,045.50	\$3.00	615	\$1,845.00	\$4.24	61
29	535.03	General Water Bid Items	Construction	Hot Applied Thermoplastic Pavement Markings (8" Wide Yellow Line)	LF	\$3.36	30	\$100.80	\$5.50	30	\$165.00	\$10.00	30	\$300.00	\$4.95	
30	535.04	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (8* Wide White Line)	LF	\$3.36	1,290	\$4,334.40	\$2.50	1,290	\$3,225.00	\$5.00	1,290	\$6,450.00	\$4.95	1,29
-	535.05	General Water Bid Items	Construction	Hot Applied Thermoplastic Pavement Markings (12" Wide White Line)	LF	\$5.05	69	\$348.45	\$4.50	69	\$310.50	\$10.00		\$690.00	\$14.03	
	535.06	General Water Bid Items	Construction	Hot Applied Thermoplastic Pavement Markings (16" Wide White Line)	LF	\$6.73	1		\$10.00	1	\$10.00	\$25.00		\$25.00	\$14.85	
33	535.07	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings(24" Wide White Line)	LF	\$10.09	206	\$2,078.54	\$8.80	206	\$1,812.80	\$16.00		\$3,296.00	\$15.62	
34	535.08	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Right White Arrow)	EA	\$156.60	1	\$156.60	\$325.00	1	\$325.00	\$600.00	1	\$600.00	\$350.00	
	535.09	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Left White Arrow)	EA	\$156.60	2		\$325.00	2	\$650.00	\$600.00		\$1,200.00	\$350.00	
	535.1	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Comb. Thru Right White Arrow)	EA	\$266.80	1		\$485.00	1	\$485.00	\$600.00		\$600.00	\$495.00	
	535.11	General Water Bid Items	Construction	Hot Applied Thermoplastic Pavement Markings (Comb. Thru Left White Arrow)	EA	\$266.80	1		\$485.00	1	\$485.00	\$600.00		\$600.00	\$495.00	
	535.12	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Word "ONLY")	EA	\$266.80	1	\$266.80	\$485.00	1	\$485.00	\$800.00		\$800.00	\$495.00	
39	535.13	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Straight White Arrow)	EA	\$156.60	2	\$313.20	\$225.00	2	\$450.00	\$600.00	2	\$1,200.00	\$275.00	
40	535.14	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Railroad Crossing Symbol, including two R's, crossbuck and 3 transverse bars)	EA	\$922.20	1	\$922.20	\$1,625.00	1	\$1,625.00	\$3,000.00	1	\$3,000.00	\$1,925.00	
41	535.15	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (White Diamond)	EA	\$527.80	1	\$527.80	\$165.00	1	\$165.00	\$600.00	1	\$600.00	\$165.00	



## San Antonio Water System

Run Date 10/19/2023

Solicitation Vendor Price List

				Total			\$1,547,040.66			\$1,976,431.90			\$2,065,837.00		
61 205.4F	General Water Bid Items		Hot Mix Asphaltic Pavement, 12-FT Parabolic Speed Hump, Type D, 3.5" Crown (COSA Constr. Std, 2017)	EA	\$1,076.48	1	\$1,076.48	\$3,500.00	1	\$3,500.00	\$3,500.00	1	\$3,500.00	\$4,000.00	
60 8970.4	General Water Bid Items	Construction	VIVDS Communication Cable (Coaxial)	LF	\$9.86	13	\$128.18	\$8.00	13	\$104.00	\$2,500.00	13	\$32,500.00	\$11.30	
59 8970.3	General Water Bid Items	Construction	VIVDS Set-up System	EA	\$1,566.00	1	\$1,566.00	\$700.00	1	\$700.00	\$2,500.00	1	\$2,500.00	\$1,000.00	
58 8970.2	General Water Bid Items	01.4600.00.0002 - Construction	VIVDS Camera Assembly	EA	\$4,640.00	1	\$4,640.00	\$1,000.00	1	\$1,000.00	\$2,500.00	1	\$2,500.00	\$2,000.00	
57 8970.1B	General Water Bid Items	Construction	VIVDS Processor System – 2 channel	EA	\$9,106.00	1	\$9,106.00	\$2,450.00	1	\$2,450.00	\$2,500.00	1	\$2,500.00	\$2,000.00	
56 8970.1A	General Water Bid Items	01.4600.00.0002 - Construction	VIVDS Processor System – 1 channel	EA	\$9,106.00	1	\$9,106.00	\$2,050.00	1	\$2,050.00	\$2,500.00	1	\$2,500.00	\$2,500.00	
55 6185.4.4	General Water Bid Items	01.4600.00.0002 - Construction	Message Boards	EA	\$800.40	2	\$1,600.80	\$150.00	2	\$300.00	\$1,000.00	2	\$2,000.00	\$400.00	
54 6185.4.3	General Water Bid Items	01.4600.00.0002 - Construction	Arrow Boards	EA	\$371.20	11	\$4,083.20	\$150.00	11	\$1,650.00	\$1,000.00	11	\$11,000.00	\$350.00	
53 6185.4.1	General Water Bid Items	01.4600.00.0002 - Construction	Truck Mounted Attenuator and Trailer Attenuator	EA	\$1,508.00	2	\$3,016.00	\$1,000.00	2	\$2,000.00	\$1,250.00	2	\$2,500.00	\$1,000.00	
52 3142.3	General Water Bid Items	01.4600.00.0002 - Construction	Ultra-Thin Bonded Hot Mix Wearing Course (Aggregate) (SAC A) (Type A)	TN	\$785.32	1	\$785.32	\$600.00	1	\$600.00	\$10,000.00	1	\$10,000.00	\$7,000.00	
51 3142.2	General Water Bid Items	01.4600.00.0002 - Construction	Ultra-Thin Bonded Hot Mix Wearing Course (Asphalt) (PG 64-22) (Type A)	TN	\$688.75	1	\$688.75	\$600.00	1	\$600.00	\$10,000.00	1	\$10,000.00	\$7,000.00	
50 3142.1	General Water Bid Items	01.4600.00.0002 - Construction	Ultra-Thin Bonded Hot Mix Wearing Course (Membrane) (Type A)	GAL	\$14.94	1	\$14.94	\$4.00	1	\$4.00	\$100.00	1	\$100.00	\$35.00	
49 1010	General Water Bid Items	01.4600.00.0002 - Construction	Painting Concrete Curbs	SF	\$4.64	1	\$4.64	\$5.00	1	\$5.00	\$30.00	1	\$30.00	\$2.20	
48 851	General Water Bid Items	01.4600.00.0002 - Construction	Adjusting Existing Manholes	EA	\$899.58	1	\$899.58	\$1,500.00	1	\$1,500.00	\$1,500.00	1	\$1,500.00	\$750.00	
47 826	General Water Bid Items	01.4600.00.0002 - Construction	Valve Box Adjustment	EA	\$367.72	1	\$367.72	\$150.00	1	\$150.00	\$600.00	1	\$600.00	\$450.00	
46 537	General Water Bid Items	01.4600.00.0002 - Construction	Raised Pavement Markers	EA	\$11.60	96	\$1,113.60	\$12.50	96	\$1,200.00	\$30.00	96	\$2,880.00	\$27.50	
45 535.19	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermosplastic Pavement marking (12" Wide Yellow Line)	LF	\$5.05	12	\$60.60	\$11.00	12	\$132.00	\$30.00	12	\$360.00	\$14.03	
44 535.18	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermosplastic Pavement marking (12" Wide Black Line)	LF	\$5.39	282	\$1,519.98	\$11.00	282	\$3,102.00	\$20.00	282	\$5,640.00	\$14.03	
43 535.17	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermosplastic Pavement marking (12" Wide Green Line)	LF	\$20.88	99	\$2,067.12	\$16.50	99	\$1,633.50	\$30.00	99	\$2,970.00	\$19.80	
42 535.17	General Water Bid Items	01.4600.00.0002 - Construction	Hot Applied Thermoplastic Pavement Markings (Bicycle Rider Symbol)	EA	\$591.60	2	\$1,183.20	\$500.00	2	\$1,000.00	\$600.00	2	\$1,200.00	\$401.50	

\$257,500.00 \$4,146.30 \$248.57 \$7.14 \$20,009.00 \$9.51 \$286.56 \$257.21 \$1,385,826.64 \$9,071.92 \$24,096.80 \$63,837.21 \$44,030.28 \$391.06 \$118.40 \$782,581.40 \$94.41 \$179.97 \$563.25 \$720.36 \$732.93 \$751.21 \$87.71 \$522,000.00 \$9,595.00 \$10,574.56 \$2,607.60 \$148.50 \$6,385.50 \$968.07 \$14.85 \$3,217.72 \$350.00 \$700.00 \$495.00 \$495.00 \$495.00 \$550.00 \$1,925.00 \$165.00

\$803.00 \$1,960.20 \$3,956.46 \$168.36 \$2,640.00 \$450.00 \$750.00 \$2.20 \$35.00 \$7,000.00 \$7,000.00 \$2,000.00 \$3,850.00 \$800.00 \$2,500.00 \$2,000.00 \$2,000.00 \$1,000.00 \$146.90 \$4,000.00 \$3,204,296.76